OFMZETALV=A R (FHI0ERE)

KIERR - KA. EFOBEIIEEADTEREFETVET,

K4 (H#4) T (FREML) FHREEHE
AF 8= RIRER 30,000
B R RIRER 50,000
KE #TF ZHE 10,000
HE i KBRAF 20,000
=r # LEBR 10,000
=N BE AEINNE 20,000
= —# SRE 50,000
HE EHZE fE] 1L 2 10,000
il BT FRE R 10,000
" E=F KB AT 10,000
AR BR KBRAF 10,000
EBi 2B KB AT 10,000
EE AR SRE 10,000
®E KA =RE 10,000
K &= SRE 70,000
nH B REBAT 10,000
IR FXF RIRER 20,000
[RE N EINNE 50,000
AH EX LER 10,000
=A 1E% TR 10,000
EWH #EY RIRER 10,000
EH E= LER 10,000
wE =F )R 50,000
xE EH KB AT 10,000
S FFRLR 30,000
L EAER HER 30,000
INE ERE KBRAF 10,000
AR #F RIRER 30,000
&Il EX )R 20,000
Bl B2 FER 30,000
=& T RIRER 20,000
AH BEE )R 60,000
ma E— HER 10,000
IAx RF ERE 10,000
%eiE —% REBAT 30,000
Il EF FER 10,000
EE=) RIRER 30,000
BAs B fafE 2 500,000
INT RE SRE 20,000
Ik & RIRER 10,000




K4 (H#4) R (FREML) FHREEHE
=aE #F RIRER 20,000
RE £ KB AF 20,000
HH EF BER 10,000
]I mE /N1 40,000
INTE B2 5B EER 30,000
AH RE RIRER 10,000
= R RIRER 50,000
HE 5= KBRAF 20,000
[RE #HA IR 20,000
AEs & RERRF 10,000
A & IR 20,000
NHE EZ SRE 10,000
NHE X&EF SRE 10,000
Ae T8 KB AF 20,000
B th AL 10,000
NN FefE Iz B2 IR 30,000
HE mE RIRER 10,000
HH EiF Iz B2 IR 50,000
FR AR REBAT 10,000
NHE A& SRE 10,000
=l Bk RIRED 50,000
A ##iF RIRER 20,000
FEK EE KBRAF 10,000
2/l MF ] L 10,000
AZT & LER 10,000
AR HE+A yN=T= 10,000
/NI TE R E)I|R 20,000
B BE HER 10,000
FE 2 N 30,000
7 FI5H KRR FF 20,000
A% BT BHE 10,000
FEM EA ELE 10,000
e Eif ERE 10,000
MR HE EER 20,000
£H WE FhiE R 10,000
E& RF EER 50,000
b BBER KB AT 10,000
X RF ERE 40,000
WIR i EHE 30,000
SE EH RIRER 30,000
*F AEXF )R 10,000




K4 (H#4) R (FREML) FHREEHE
*F #2Z )R 10,000
B th= LEBR 30,000
=EE BER 50,000
i1 W v =RE 10,000
N —3R EER 10,000
£18 Rk SHE 10,000
A+ BEa RIRER 20,000
HE wng 10,000
Fl R ZRER 20,000
WIR &ETF LEBR 10,000
Fil FF RIRER 10,000
INEGF EE EHER 20,000
N[ SRE 50,000
=2 B HER 50,000
R & KBRAF 10,000
TR AER =410 10,000
IR OEAB SRE 50,000
e 3EE HER 20,000
Bk & 5FR 20,000
Bl =3 )R 10,000
el A IR 50,000
LIl ek EINNE 10,000
W FhiE KB AT 30,000
ER B EER 10,000
IR BEF I m]=} 20,000
mE A rENINY 20,000
BRIR EX /N=T= 10,000
AXH FA LER 10,000
%% Hibh ERE 30,000
RNl HTE RIRER 30,000
B ME FER 30,000
miE EE EHE 20,000
=W OE KBRAF 20,000
#F B =ER 10,000
A1T X EEER 50,000
Lt #hE LER 20,000
AH E EHE 20,000
INE AKX BHE 10,000
IR KB AT 10,000
A1 IERF EER 20,000
wig 28 = 1 50,000




K4 (H#4) R (FREML) FHREEHE
WHH —RE FER 50,000
g A IR 10,000
IR X&F EER 10,000
&R & RIRER 100,000
= F RIRER 50,000
A &7 HER 10,000
ELt #A IR 30,000
R Bl FER 50,000
Bt EETF KB AT 30,000
B = KB AT 50,000
hR B KB AT 10,000
®mA ERM RIRER 20,000
ZH ZH KB AT 10,000
tH FBH KB AF 50,000
HBE B= ITESP) 110,000
ARER {=BA RIRER 50,000
FE B LER 20,000
KH #RE RIRER 50,000
2R &= )R 100,000
ERK 7% IN=T= 10,000
=R 5 E)IIR 50,000
= R#® LER 10,000
Ei A KBRAF 10,000
BIR 2k BHE 100,000
Tk BhE RIRER 20,000
H EX RIRER 50,000
EE XE )R 10,000
1 KA RIRER 30,000
WA FERER LER 10,000
K E=EF )R 10,000
AR AR RIRER 50,000
=5 Hi BER 10,000
=KRRE —= EER 50,000
FHE OEF RIRER 50,000
L 54 if=]=} 50,000
1 RIRER 20,000
yH B RIRER 70,000
E# X REBAT 50,000
AR £= EHR 50,000
IR #BEF BHE 30,000
H AX KB AT 150,000




K4 (H#4) R (FREML) FHREEHE
el k& LER 10,000
fitil FB KB FF 10,000
Bk SF RIRER 10,000
AR MR RIRER 20,000
£H 8 =RE 50,000
wE F— EHE 70,000
fakx = 1BEIR 50,000
EH BpE EER 50,000
ng Esx LR 20,000
A+ ft IR 10,000
e Ft HER 10,000
As BE =ER 10,000
ERK = RIRER 50,000
+H @#- BHE 10,000
BEH B HEINNE 50,000
Al #=E BHE 100,000
K EX RIRER 30,000
IR SAEXR BINE 50,000
I mE LER 10,000
TP N5 S ZRE 10,000
v JITREIES KR 10,000
EH EE dbiEE 50,000
¥ =— )R 50,000
EE A BER 10,000
7wl = BHE 30,000
®EE M HEINNR 10,000
H AT E)NE 50,000
NS %#EL% 30,000
NE ##= ] L 10,000
2H B RERRF 10,000
XN Ef EER 30,000
aE RE /N=T1= 10,000
Fith &KX BER 30,000
=8 BEA ERE 30,000
HAR IE5h KR 30,000
Rk ML BFE 100,000
= JTsh Z=RE 20,000
mE 1B RIRER 10,000
Bl 1B RERKF 50,000
Bl & P31 10,000
AA BE SRE 20,000




K4 (H#4) R (FREML) FHREEHE
PRk #X RIRER 50,000
=F FE faff R 50,000
HE B2 AR 50,000
Rk =4 KB FF 50,000
2 AT IR 50,000
TR B SRE 10,000
=L ic 2 EiRE 50,000
AER F— fafE 2 30,000
JNER 1EBR KB AF 50,000
FCEH I RIRER 50,000
YEi% BhTH ZHE 10,000
Tz ME RIRER 50,000
=2 X RIRER 10,000
=l AR RERRF 20,000
By & RIRER 50,000
AR BEF RIRER 30,000
TE AKX RIRER 50,000
A EE RIRER 50,000
EH niE wng 20,000
£k ERE BER 50,000
iy L RIRED 50,000
K2 KB AF 10,000
=ik 1EBA FRiE R 50,000
INR RE RIRER 30,000
kg E=TFF EHE 10,000
A £ RIRER 50,000
=5 & KRR FF 50,000
fEiE wBiE RIRER 30,000
HHE E KB AT 50,000
IBH %1% EILE 10,000
Rk B BHE 50,000
AR SR FER 50,000
e BN )R 50,000
KE =# RIRER 10,000
IR —BA ERE 100,000
T ARG KBRAF 10,000
= = KBRAF 50,000
THE #B— LER 10,000
H#Hh EiESH IR 10,000
xH E— KB AT 10,000
BH K& LER 10,000




K4 (H#4) R (FREML) FHREEHE
g fEz FER 10,000
A RE TR 10,000
M &% SRE 10,000
A K& fa i 1R 10,000
NiE BE EER 30,000
FGA AR LER 30,000
P A R 10,000
fERRK Ht HBEE 10,000
mFt $5F RIRER 10,000
Ak RS HRR 50,000
= ER dbiEE 50,000
BE B¥ EHE 10,000
mx HE N1 10,000
A HSH IR 10,000
PHE E LER 30,000
A #RK )R 10,000
A0 FH KB AF 20,000
kg mth KR FF * % %
ER # SRE * ok %
bR X8F mINE * % %
%E AHih SRE * ok
HE #hth RIRER * ok %
=% HBE RERRF * % k
A #F RIRER * ok %
TEH =#F KB AF * ok ok
TEH 8k KBRAF * ok %
RE EE RIRER * ok %
T Eft RIRER * ok %
hiE {B— BHIRED * % %
FH AE N1 * % %
BH FF Z=RE * ok ok
mE Kz F=E * % %
AN R g X %
LA JNBH LER * % %
KERN 2 FnERILE * % %
B BEH KB AF * % %
KFEE & B * % %
R B ABRA il
HH EX RIRER * % k
s & RIRER * % k
&l B=E EEE * % %




K4 (H#4) R (FREML) Fi&EE
BAR ¥ EER * ok %
XN B EEER * % %
FE SR ARG * % *
£l = FER * % %
X5 E5 BER * % %
AH Bt RARRF * % %
=d 5hZE EiRE * % %
FIH AR FER * % %
BAR 1% FER * % %
8 2 RIRED * % %
ki B85 RIRER * ok %
" B FER * % %
FHAH B3 RIRED * % %
KPR #5 EHRE * % %
AIE BRA SRE * ok %
mil Ez RIRER * ok %
Ba[4r EEER KBRAF * ok %
YEHL fRF FER * ok %
=4F E/MIT FE * ok %
EE R RIRER * ok %
TE RS LER * ok %
2% Hih LER * % ok
E2H Bz REBAT * ok %
EE XE KB AT * ok %
AR AR KR AT * K ok
Bl ER RIRER * ok %
®wmK RF KBRFF * ok %
INRR R ARG * % ok
Rk thic RIRER * ok %
IS #e el LR * % %
AR ft B AR * % %
=i W HER * ok %
EmE R ZEER * % %
AE K REED X % %
IRE IE45 LEE X % %
INEEAR HEER HEE * % ok
TEODNRDHACHFLEDAAR 487 £ 14,735,000
Ea/mEDAAR 4,024 % 117,310,000




